Chem. 6A Last Quiz!!! Name: '!LE/T/

Section:

15 points

1. Nomenclature (1 point)

(a) Fe;05 Thvpn) | ) o X\ dg (b) phosphorous trichloride tPC ( 2

2. (2 points) Write the net ionic equation that results when solutions of hydrochloric acid and sodium

hydroxide are mixed. N@(ﬂ-«i (k’L\ 4+ Hod (éﬁﬁ ~F> N ald {»ﬁm&y‘) 4+ & !2«0 (Q‘)
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(3) (3 points) Consider the following reaction: A+B->C
Pure A and B are initially mixed together at concentrations of A = B = 0.400 M. After 9.00 minutes the

concentration of A = 0.150 M. Calculate the average rate of reaction over this time period.
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(4) (2 point) List two factors that will affect the rate of a reaction in the gas phase.
&

(5) (3 points) Label the following diagram with the following:

A

(a) Label the reactants and products

(b) Label the activation energy

(¢) Is the reaction Endothermic

(circle your choice)

Energy

reaction progress



(6) (1 point) Label which chemical species is the acid or base on either side of the reaction given below.
SO (aq) + H0()) = HSO;(aq) + OH (aq)

(7) (1 point) Write the equilibrium constant expression (K) for the following reaction:

3NO,(g) = N,05(g) + NO(g)
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(8) (2 point) Consider the reaction below initially at equilibrium. According to Le Chételier’s principle,
if the temperature of the reaction is increased, what would happen to the concentration of the reactants?
Explain. Sl £ 4

K

heat + 4NO, (g) + 6H,0(1) = 70, (g) + 4NH, (g)
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